8th  Powers: Expressing the Numbers in Exponential Form with Integers as Exponent

1. Choose the correct answer for the following:

(i) a"xa"isequal to

A) a" +d" (B) a"™ (C) a"" (D) a™
(ii) p°isequal to
(A) 0 (B)1 ©) -1 D) p
(iii) In 10*, the exponent is
(A) 2 (B) 1 (C) 10 (D) 100
(iv) 6-!is equal to
*) 6 (B) -1 ©) -+ D)
(v)  The multiplicative inverse of 2 is
(A) 2 (B) 4 (C) 2¢ (D) -4
(vi) (=2)°x(—2) isequal to
(A) -2 (B) 2 C) -5 (D) 6
(vii) (—2)?isequal to
@) 5 B © 5t (D) =
(viii) (2"+47")x 2% is equal to
(A) 2 (B) 5 C) 4 (D) 3
(ix) (%)_4 is equal to
A) 3 (B) 3 ©) 1 (D) 3+
(x) (- 1)"isequal to
A) -1 (B) 50 (C) - 50 (D)1
2. Simplify:
() (—4) +(-4y (i) (55 (i) (=3)'%(3)
. 2V o3V (LY ~7. ql0 soon 2°X3'x2°x 37
(iv) (?) X(E) X(?) (v) (377+3")x 37 (vi) szi 36X
(Vi) y*=r X y* e Xy (viii) (4py x(2pyxp* (ix) 97/ —3x5" — (81—1) 't
1 -2 ; 9 —1/2
®) () —3x87 x4’ +(7¢)
3. Find the value of:
()(3° + 47")x 2 (i) (27 x4+ 22 (i) (17) y (é—) iy (i—) 2
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4. Find the value of m for which

() 5"=5°=5 (i) 4" =64 (iif) 8" =1

(iv) (&) =a V) (5"Fx(25F%125° =1 (vi) 2m=(8)7 = (23)/3
5. (a) If 2*= 16, find

i) x (i) 27 (i) 2> (iv) 2+*2 (v) V27

(b) If 3* = 81, find

i) x () 3= (i) 3+ (iv) 3% (v) 3*°
s _S_xH,_ y -x_m-m+n -x_n+f x_.r""’ﬂ”"_
6. Prove that (i) =— Fren) X : ) =1, (i) ( o ) ( . ) (xm ) =1
Simplity. |
‘ 25 ¢~ * .. 37 x107°x%x125
(1) — (##0) (1)

5 x10x ¢ 57 %67
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